## CITY OF NEW BEDFORD

## APPLICATION FOR LAYING DRAIN

	Application Nº 19525	Board of Health Permit No.					
	m d V	New Bedford, Mass., 12/12/72					
	To the Mayor and City Council:  I hereby request that a drain be laid from the	premises of W. S. Whitlow St					
	115 1±Sof lepton St						
	J. C.						
	Oll Hay						
	to connect with the sewer in the same to be laid in the street and the surface Works.	repaired as directed by the Commissioner of Public					
	I hereby agree to pay at the office of the City Treasurer all cost of performing the above work in the manner specified, in excess of the deposit made herewith, within 10 days after the completion of the work.						
	It is understood and agreed that the deposit made with this application shall be applied to the payment of the cost of performing the work done, and that any excess of deposit over the cost shall be returned to me by the City Treasurer.						
	Witness & Suadros Miss	une Walletile					
	/3/	Property owner					
		Address					
	Ву						
	Requires separate entrance	*					
	for roof water	Address					
	Consent of Owner	er of Private Drain					
	To the Mayor and City Council:	New Bedford, Mass.,					
	I hereby grant to						
	the privilege of draining premises						
	the privilege of training promises						
	through the private drain owned by me connecting						
	p comocin	street.					
		Owner					
	Estimate and De	posit Requirement					
	Estimate and Deposit Requirement  Office of Commissioner of Public Works, 12/12/72  My estimate of the cost of laying the drain described in the above application is  2/9.00  Assessed Entrance charges  Total deposit required 2/9.00						
	Assessed Entrance charges	Total deposit required 2/9.90					
		Genra D. Brightman					
		Commissioner of Public Works					
	Certificate of Issue						
	Cermicar						
		Office of City Clerk, /2/12/72					
		Treasurer's receipt presented this day; whereupon					
	Permit No. 19525 was issued, as same.	nd the Commissioner of Public Works notified of the					
		Ellen M. Laughan City Clerk					
V	Laid from main in street to it property line	City Clerk					
,	Owner agrees to supply all necessary  Transite pipe.	T					
	/// W/WW / pine						
		1					
-		le machine must be					



*	NOTICE TO COMMISSIONER OF PUBLIC WORKS
	Length of drain 28 Selled 4/17/73 &
	Sewer depth pipe system
	Surf. drain $4^{1/2}$
	Drain Permit. Nº 19525  City of New Bedford,  Office of City Clerk,  12/12/72
	To Commissioner of Public Works.
	Permission has this day been issued to
	James Instenholme 35.3 Whithow Street
	Property owner Address
	By
	Address C
	to lay drain from the premises of W. S. Whitlaw St., 16 = S
(Car	of lepton Street
39	to connect with the sewer in Aluttaw street.
V	Laid from main in street to irea pipe in property line
~	Owner agrees to supply all necessary  (IIII) Y// Yauguau
	transite pipe.
	Requires separate entrance for sewage and roof water
10	be essented - usush machine must be connected
00	te santarulene

## RETURN OF FOREMAN

	Entered OAN.	22,		1973	
	Time 3-			(d	1 July
	By JOSEPH PI	NE.		122	
		COST		3 33	
	Labor	hours	@		
	JOSEPH PINE	. "7	3.75	\$26.25	
	HAROLD TAY	LOR "7	3.32	23.2	4/
	JOSEPH FERT		3.32	23.2	4 /
	JOE CRUZ	. "7	3.10	21.62	3 /
	ROD BRAGA	"7	3.60	25.2	
Shori	WE DON OLIVE!		3.75	3.75	
	JOHN HOWAR		3.32	3.32	
	Stock			\$126.66	
	12 BAG CEME	***	95-	.98	S M
	100 LBS. SAN	D. @.	.12cwt	.12	
131	3 BLACK TOPS	TREET.	78545	4773	4
5X.	GRAND SQU	LARE.	ALCO DE LA COLONIA DE LA COLON		0
	27/409.0	17	AND THE RESIDENCE STOCKHOOL STOCK	38 89	N
	Trucking #26 -	1 hr.@3.	.00-	3.00	7
	-hoe # 65-	-3-HRS.	@6.55	19.65	E.
	ress.# 47—	- 1. H.R.	@3.35	3.35	X
Chev.	Trk. # 40-	- I+HIR.	@3.00	3.00	S
	Total Cost			156.76	~
	Estimate-cost of lay	ing drain 2	191-	- 64	ER
	Entrance charges	belasses	4		-3
	Total deposit,			r56/6	3
()	Balance due	stenley	line	6224	0
10	ellund	1-1-10	er ı-	5 5 7	
1	Pieces pipe to curb	-			
		hous 2 - 1	-10FT-	-5.FI	
	Cut at sewer			21	
	Cut at curb. 4 y	2 FEET.			100
	Size of pipe 41	+6"TR)	NSIT	E.	10
	Correct			10	
		. 0.	•	4	
	OSEF	h PINE			
			F	oreman	